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XII Science
Prelim Exam (2023 — 24)
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General Instructions

L.

All questions are compulsory.

2 Section A contains Q1 of Multiple Choice Questions from [ to x carrying | mark each
and Q2 of Very Short Answer type of questions from i to viii carrying | mark each.
3, Section B contains Q3 to Q14 of Short Answer type questions carrying 2 marks each.
4, Section C contains Q15 to Q26 of Short Answer type questions carrying 3 marks each.
5. Section D containsQ27 to Q31 of Long Answer type questions carrying 4 marks each.
SECTION A
Q1. Write the most appropriate option from the options given below. (10)
i) Which of the following types require pollination but result is genetically similar to
autogamy?
a) Geitonogamy b) Xenogamy c¢)Apogamy d) Cleistogamy
ii) Fertilization takes place at
a) Cervix b)ampulla c)isthmus d) vagina
iii) A colourblind man marries a woman, who is homozygous for normal vision. The
probability of their son being colourblind is
a) 0% b)25% c)50% d) 100%
iv) Which one of the following pairs correctly matches a hormone with a diease resulting
from its deficiency?
a) Parathromone -- diabetes insipidus
b) Luteinizing hormone — diabetes mellitus
¢) Insulin —hyperglycaemia
d) Thyroxine -- tetany
V) Abscissic acid controls
a) Cell division b) leaf fall and dormanCy ¢) shoot elongation d) cell elongation
and wall formation
vi) Diapedesis is performed by
a) Erythrocytes b) thrombocytes c) adlpocytes d) leucocytes
vii)  After land slide which of the following type of succession occurs?

a) Primary b) secondary c) tertiary d) Climax
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viii) is in direct contact of brain in human.
a) Cranium b) Dura matter c¢) arachnoid membrane d) pia matter

iX) Gene frequency in a population remains constant due to .
a) Mutation b) migration c¢)random mating d) non random mating

X) Antibiotic Chloromycetin is obtained from .
a) Streptomyces erythreus b) Penicillium chryosogenum
c) Streptomyces venezuelae  d) Streptomyces griseus

Q2. Answer the following. (8)
i. What is antibody?
ii. Why is the genetic code considered as commaless?
iii. Which period is known as ‘age of reptiles’?
iv. How cytokinins control apical dominance?
v. Identify the type of cross given below.Give definition of the same.
Tt (F1 generation) X TT (one of the homozygous parent)
vi. Give examples of natural physical mutagens.
vii. Where was ozone hole discovered?
viii. Name the causative agent of the following. a) Typhoid b) amoebiasis

SECTION B
Attempt any Eight. (16)
Q3.Match the following.
Sr. No A B
] Nutritive tissue of embryo Perisperm
2 Remnants of nucellus in seed Cotyledon
3 Nutritive tissue of developing microspores | Endosperm
4 First photosynthetic organ of embryo tapetum

Q4. Classify the following components of semen given below as per column A and complete the

column B.
(Acid phosphatase, prostaglandins, citric acid, fructose, fibrinogen)
Sr. no A B
| Seminal fluid
2 Prostatic fluid

Q5. Explain the central dogma of molecular biology.

Q6. Arrange the folloing stages of human evolution in the order of their increasing cranial
capacity. A) Neanderthal man b) Cro-magnon man ¢) Homo erectus d) Homo habilis

Q7. Differentiate between active and passive absorption.
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Q8. Match the column using given options.
(Capillary water, combined water, hygroscopic water, Gracitional water)

Sr no. A B
1 Water absorbed on soil particle

2 Water penetrated deep in soil

3 Water present as hydrated oxides

4 Water present between soil particles

Q9. Give the functions of a) Cowper’s gland  b) Corpus leuteum

Q10. Differentiate between long day plant and short day plant.

Q11. Sketch and label histology of T.S of spinal cord.

Q12. Name the type of association seen in the following interactions:
1) Humming bird and host flowering plants --
2) Crow feeding the hatching of koel --
3) Cattle egret with buffalo --
4) Tiger and dear --

Q]3. Sketch and label sigmoid curve of population.

Q14. Distinguish between blood and lymph.

SECTION C
Attempt any Eight. (24)
Q15. Write a note on proliferative and seceretory phase of menstrual cycle.
Q16. Observe the given diagrams (a), (b) and (c) and answer the questions given below :

(h) Which stepof _proféiri s‘,yrnthesis'is shown in the following diagrams?
(2) During initiation, which subunit of ribosome binds with m-RNA?
(3) What are the three binding sites for t-RNA on ribosomes?
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(4) On which site of ribosome second and subsequent t-RNA arrives?

(5) Which link is binding amino acids in diagram (b)?
(6) Which chain is being released from ribosome in diagram (c)?

Q17. Birds are glorified reptiles. Explain.

Q18. Write note on phytochrome, differentiation and vernalization.
Q19. Name any three gastro-intestinal hormones and explain their function in brief.

Q20. We include mushrooms in our diet. Explain.

Q22. What are the 3 steps involved in PCR technique?
Q23. Complete the following table.

Sr. No | Organism Habitat Respiratory surface/organ
1 Insects Terrestrial
2 Amphibian tadpole of frog
3 Fish aquatic
4 Reptiles,birds and mammals 4]

Q24. The pyramid of energy is always upright.Give reason.

Q25. Temperatute is said to be the most ecologically relevant environm

Q26. Write a note on over-exploitation.
SECTION D

Attempt any Three.

(12)

Q27. Describe out breeding devices which encourage cross pollination.
Q28. Observe the diagrammatic representation of double circulation and answer the given

QUestions: e
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(1) Why is the circulation shown in the above diagram called double circulation?

(2) What are the two main routes of double circulation?

(3) Which blood vessels carry oxygenated blood to heart and deoxygenated blood to lungs?
(4) Which blood vessels carry deoxygenated blood to heart and oxygenated blood to body

organs?
Q29. What is dihybrid cross? Explain with suitable diagram.

Q30. What are melt in mouth vaccine. Explain any two application of transgenic animals.

Q31.a) Give the functions of GH and TSH.

b) Name the cranial nerve number IV and VIII , mention their function.
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SYIC (HSVC) PRELIMNARY EXAM JANUARY 2024

ET:1 (Applied and Industrial Electronics)
MM :80 Time :3Hrs

1.A) Fill in the Blanks with the given alternative. (5M)
1. The OPAMP can amplify _____ signals.

i. both ACand DC ii. Only AC iii. Only DC iv. None of the above
2. The train of trigger pulse is called

i. clock pulse ii. Sawtooth waveform iii. Triangular waveform iv. signal

3. scannerisa device.
i. input ii. output iii. Input/output iv. None of the above
4. In TV receiver light is used to receive instruction from remotecontrol.

i. Infrared ii. Ultra violet iii. Green iv. Yellow
5. Connecting solar cells in provides higher current.

i. parallel ii. series iii. Series- parallel combination iv. None of the above

1.B) Match the column. (5M)
A ‘ B
1. Solar cell a. photo diode
2. remote station b. light energy to electrical energy
3. Scan modulation c. Electro magnetic waves
4. DC shunt motor d. Binary data
5. Photo junction effect e. low torque
f. LDR
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1.C) State whether True or False. (5Mm)

1. Total internal reflection is not observed in fiber optic communication.

2. The out put frequency of Astable Multivibrator is dependent on supply voltage.
3. Connecting solar cell in series provides higher current .

4. In video systems servo control system is used.

5. A non inverting amplifier uses positive feedback.

2.A) Answer any FIVE questions. (5M)
1. What is a torque?

2. What is CMRR?

3. What is a wireless communication?

4. What is a photoemissive effect?

5. How many resistors are there in a IC 555?

Q.3. A) Answer any FOUR questions out of SIX. (12Mm)
1. Write a note on DC series motor.

2. Define load regulation and line regulation.

| 3. State 4 ideal characteristics of Operational amplifier.

4. Define optoelectronic effect. State its types.

5. Write a note on fibre optic cable.

6. With the help of block diagram explain the working of remote station.
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Q.3.B) Answer any FOUR out of SIX. (12M)
1. Define a solar cell. Which effect ié used in solar cell.

2. What is a motor? State its working principle.

3. Draw the circuit of bistable multivibrator and explain its working,
4. Explain any 4 characteristics of OPAMP.

5. Compare photodiode and photo transistor.

6. Explain the working of photo relay circuit using LDR.

Q.4.A) Answer any THREE questions out of FIVE. (12M)
1. Draw a circuit diagram of PWM and explain its working.

2. Draw an equivalent circuit of DC motor and write the formula for its speed.
3. Draw pin connection of IC 555.

4. Explain the circuit of photo relay with SCR.

5. What is a solar module? Draw a symbol of solar cell.

Q.4 B) Answer any THREE questions out of FIVE. (12M)
1. State applications of DC motor.

2. Draw block diagram of OPAMP. Explain each block.

3. State applications of solar cells.

4. Draw non inverting amplifier using OPAMP. Give its output equation.

5 Write a note on FAX.
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Q.5 A) Answer any ONE question. (6M)

1. Draw the circuit diagram of an Astable multivibrator and explain its working.

2. Explain Field control method for the speed control of DC motor.

Q.5B) Answer any ONE question. (6M)

1. Draw the circuit diagram of OPAMP as an inverting adder amplifier. Give the
equation for its output.

2. Draw the internal structure of IC555.
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Q.1. A) select the correct alternative and rewrite the sentences: 4)

l. is a blue print of all the activities that an entrepreneur proposes to
engage in.

a) Break even analysis b) sales report c) inspection Report d) Project Report

2 transport is the fastest and costliest mode of transport.
a) Road b)Railway c) Air d) ocean
3. Finance is the of the business.

a) Weakness b) opportunity cOthreat  d) Strength

4. In store, all incoming materials recorded in

a) Material Receipt book b) cash book  c¢) material issue book  d) journal

B) Match the pairs: 4)
Group A Group B
a) Strength and weakness Network Analysis
b) Road Transport Family
¢) Retailers SWOT Analysis
d) Social element of consumer behaviour Hockets

Home delivery
C) State whether following statement are True or False )

1. Every person buy with a certain motive.

2. Market in its simple sense market Is a place where buyers and sellers doesn’t meet.

3. SWOT analysis is a technique and a management tool and it determines whether the
project to be undertake will be feasible or not.

4. The entrepreneur has not to decide whether the project he is undertaking, should be

big or small.



Q.2. Define and explain: (any Four)

L.

2
3
4,
5
6

Wage Employment

. Network analysis

Project report
Importance of Skill
Importance of branding

Role of Transport

Q.3 Write short notes: (Any Four)

1.

2
3
4.
5
6

Water transport

. Advantages of book keeping

Investment Procedure

Requirement of working capital

. Types of buying motive

Procedure for selection of the site for the project

Q.4 Answer in brief: (Any Four)

1.

2
3.
4

6.

Explain the need of project appraisal

What is marketing? Explain mis concept about marketing.
Explain the threats of SWOT analysis.

Explain the establishment process of small-scale industries.
Explain ABC Analysis.

Explain the importance of advertising in sales promotion.

Q.5 Answer the following question

A) what is industrial dispute? What are the causes?

B) explain the importance of transport with suitable example.

Or

A) Explain the Break-even point of analysis with the help of diagram.

B)

What is Market assessment? Explain the components of Market Assessment.

(12)

(12)
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Marks 50 Electronics PI RC-ASC-Prelim 2024 3 Hours

Note: i] All questions are compulsory.
ii] Figures to the right indicate full marks.
iii] Draw neat DIAGRAMS wherever necessary.

iv] Use of Log table is allowed. Calculator is not allowed

Q.1 A. Select the correct alternative and rewrite the following sub questions. (4]

i) signals can a CRO visualize.

a) Only digital b) Only constant DC ¢) Time-varying signals, both analog and di.git‘al
d) Only audio

i) Positive feedback is used in

a) Sawtooth Oscillator b) Low noise amplifier c¢) Schmitt trigger d)None of these.

iii) In IC 555, the Trigger terminal is of the internal transistor.
a) LED b) LDR c) Solar cell d} none of these

iv) In inverting Op-Amp, for gain 10 if input Resistance is 1 K ohm , what is the Feedback

Resistance Ohmes.
a)75 b)1 K c) 10K d) none of these

B. Attempt any Two of the following. [6]
i) Explain use of an OPAMP as an Adder . Draw the circuit diagram.
ii) Explain working of “LC” Filter with neat diagram and Waveforms.

iii) Explain working of Speaker with the help of suitable diagram.

Q.2 A. Attempt any Two of the following. [6]
i) Explain with help of Block diagrams ,working of 3 pin IC Voltage regulator.
ii) Write a note on Piezoelectric Transducer. Draw diagram.

iii) Explain LAN, WAN, MAN in Computer networking. Write example of each.
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B. Attempt any One of the following. [4]

i) What is A.M? State the expression for modulated wave and draw the waveforms of modulated
wave, carrier wave and Modulating Signal.

ii) Explain with diagrams and Waveforms working of Bridge rectifier circuit.

Q.3 A] Attempt any Two of the following. [6]

i) How waveforms are displayed on CRT screen ?

ii) What is Thermistor. Write its different types and uses. ,

iii) Explain with the help of circuit diagram , working of Transistorised Voltage regulator.
B] Attempt any One of the following. [4]

i) Compare Amplitude modulation with Frequency modulation.

i} Draw the circuit diagram of Non Inverting amplifier and derive the expression for output
voltage.

Q.4) A] Attempt any Two of the following _ [6]
i) Explain Elements of communication system.
ii) Define AM, FM and PM.
iii) Explain the working of Transponder with neat diagram.
B] Attempt any One of the following. ' 4]

i) Draw block diagram of Digital Multimeter and Explain various blocks used in it.

ii) Write a note on Cellular Mobile .

Q.5) Attempt any Two of the following [6]

_ 1) Design a simple monostable multivibrator circuit using the IC 555 timer. Specify the values of key
components such as resistors and capacitors for a desired output pulse width.

ii} Describe the purpose and function of a voltage follower circuit using an operational ampilifier.
Provide an example scenario where a voltage follower is particularly useful in electronic applications

iii) Calculate R, if pulse width =10ms and C = 0.2 micro farad in case of MMV using IC 555

o2
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Also draw the circuit diagram.

B] Attempt any One of the following. . [4]
i) Draw a block diagram of OPAMP and explain the function of each block

1) A circuit using an operational amplifier has a closed-loop gain of 40, If the input voltage is 1
volts, calculate the output voltage. Assume ideal Op-Amp characteristics.

OR
Q.5) Attempt any Two of the following [6]
i) Draw frequency response graph of Op-Amp. Explain it. What are the two bandwidshs ?
1i) Explain Common mode rejection ratio and Slew rate of OPAMP,

iii) Draw pin out diagram for IC 555 and state the function of each.

B] Attempt any One of the following. . [4]

1) Explain the concept of negative feedback in operational amplifiers and discuss its significance in
improving circuit performance.

ii) Explain with diagrams Network topology in Communication.
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Marks 50 Electronics PII RCASC- Prelim 2024 3 Hours

Note: i] All questions are compulsory.
ii] Figures to the right indicate full marks.
iii] Draw neat DIAGRAMS wherever necessary.

iv]Use of Log table is allowed. Calculator is not allowed

Q.1 A Select the correct alternative and rewrite the following sub questions. [4]

i) The Bubbled OR gate is equivalent to gate.

a) NAND b) OR c) NOT d) NOR.
i) 1:64 DEMUX can be designed with _ select lines
| a)2 b) 4 gl 5 d) 6
iii) In Simple SRFF_ feedback (s) are there.
a) 0 b) 1 c) 2 d) none of these..
iv) are used to convert analog sensor signals into Digital values..
a) ADC b) DAC. c) ACD d,) None of these.
B. Attempt any Two of the following. [6]

1) Convert the following:
a] (44.88 ) Decimal = (?) Binary b] (7AB.8) Hexa decimal = (?) Decimal
ii) Explain working of CMOS NAND gate with necessary circuit diagram.

iii) Explain with Diagram and Truth table, construction and working of Full Adder using logic
gates.

Q.2 A. Attempt any Two of the following. [6]
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i) Explain working of Successive Approximation ADC with a block diagram.

ii) What is a Encoder. Explain Decimal to BCD Encoder with diagram.

iii) Explain working of Clocked SR Flip-flop With the help of TT.

B. Attempt any One of the following. [4]
i) Explain with the help of diagram working of R-2R Ladder DAC.

i) Why NOR gate is called universal gate. Explain it. Draw diagrams.

Q.3 A] Attempt any Two of the following. [6]
i) Explain the Decoder with the help of circuit diagram.

ii) Which type of MUX will be required to implement F =(A,B,C,D)=(0,1,3,6,10,11, 12 14,15
). Draw diagram.

iii) Explain with the help of Diagram and Truth Table working of JK FF.
B] Attempt any One of the following. (4]
i) Prove the following identity Using Boolean Laws.
(A+B) (A+C) = A+BC
ii)What Is ROM ? Write different types of RAM . Explain in brief.

Q.4) A] Attempt any Two of the following. [6]
i) What are different types of DAC? Explain any-ore- FLASH TNP R ADL. ,
if) What is a Register? Give any four applications of register.
iii) Write 3 input and 3 output devices of Personal Computer.

B] Attempt any One of the following. 4]
i) Tmplement the following expression using multiplexer and Explain.
F(ABCD) =€m( 2,4,6,7,8, 10,11,12,14)

ii) How does an edge triggered JK FF avoid race around condition?
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Q.5) Attempt any Two of the following [6]
i) Compare full adder with Half adder.
it) Write a note on memories of Computer.
iil) Write difference between Mux and Démux.

B] Attempt any One of the following. [4]
i) Write uses of X-OR Gate. What is the importance of Universal gates?

i) Explain working of Asynchronous decade counter. Write its TT and show waveform for each
pulse.

Q.5) Attempt any Two of the following [6]

i) The clock signal of frequency 160 kHz Ts to be reduced to 2.5 kHz. How is it possible using 4
bit ring counter? Explain with a block diagram.

i) Explain clear and pre-set facility in a flip-flop with truth table and logic diagram.

1i1) What is a half adder ? Explain its working with a logic diagram and truth table,

B] Attempt any One of the following. (4]
i) Implement a 16:1 Multiplexer Using 8:1 Multiplexers.
if) Draw a logic diagram of 4 bit left shift register and explain working with Timing diagram.

SEEEEEE>ILL<LL<<~~~~All the Best SO>S LLL L
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Preliminary Examination
January :2023-24

Class: SY.0.O Sub: Information Technology
Q.1) Fill in the blank 10M
PR

) Styleshect is used when u want changes in inuitiple web pages.
2) unorderd list are marked with _
3; __ __ helpsin finding out solutions for the ranking of wcbsite.

4) The teils search engine to exclude some of the files from indexing.

5) In image mapping altribute provide information about image.

6) statement in javascript is used to niake multiway decission.

7) To skip some statements in block statement is uscd in javasciip

8) ____ signisused in php for declaring variable.

9) loop executes statements as long as condition becomes truc.

10) ___ provide servicess on demand and charée as per use.

Q.2) State Truc or False _10 M

1) To underline a text text- underline property of CSS is used,

2) White HAT SEO involves looking for ways io improve user experience ethically and
genuinely.

3) <Meta> tag is piaced between <Title> and </Title> tag.

4) Digital signature is used for authentication of data.

5) Speech Recognition and Cogaitive Computing are part of LOT.
6) <video> tag is used to specity video on an HTML document.
7) window is the topmost object in javascript.

§) PHP is open source general purpose scripting language.



5) and are evets related fo focus on elements of page.

—_—

: focus
a) onchange b) onkeypressed conblur d) onfocu
6) Every JavaScript object has its own and
a) methods b) properties c) Attribute d) loop

7) ___and____are the attribute of <Audio>.
a) Autoplay b) control
c) ait d) src
8)InPHP ___ and —___arctypes of arrays,
a) Indexed b) Associative ¢) multistore  ¢) multidata
9) _____and___ are the types of functions supported by PHP.
a) string b) relative ¢) huiltin d)user define

10} Phases of trade cycle are and _

aj precale bj execution ¢) Market Comparision d} iransportation
Q.5) Muitiple Cheice Thiree Correct Answer ‘; o M
L__
. ~ .. » . ’ ) \'
1) following are the types of positioning in CSS,
aj Static  b) Dynamic c) Fixed d) Variable ¢) Absoluie ) refrence

2). Types of Ecommazce.
a)B2B b) B2C ¢)C2B d)C2G ¢)G2C fC2C

Q.6) Match the following

4 M
- ‘ et
!::L--/—CO[““"‘ A ___Columin B I
I | PHP scripting is o [_ Global CUSIW'“'
IOT is network of ()pen SOl
s = N

4 E- -Commerce merce provide l c . Post
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Q.7) Short Answers

1) Whatis Artificial Intzlligence?

2M

2) Explain Phasesof tradecycle. M

3) Explain features of PHP 4M
Q.8) Write code for the following 16 M

1) Write HtmlS code with CSS as follows

a. create form to accept name, age, email, address, from the user.
b. create a submit button to send the data.

¢. heading of form should be of blue colour and undeline.

2) Write JavaScript program count no. of words in the given string.



PRELIMINARY EXAMINATION — JAN UARY -2024

SUB: COMPUTER SCIENCE Paper 1 (D 93) CLASS: X1
Time: 3 Hrs. MARKS: 50

NOTE: 1. All questions are compulsory.
7 Draw neat diagrams wherever necessary.
3. Figures to the right indicate full marks
4. Use of any type of calculator is not allowed
5. Due credit will be given for the programs with appropriatec comments
6. Write both the sections in the same answer sheel

Q. 1. (A) Select the correct alternative and rewrite the following: 4

(a) ‘Terminate a Process’ is a System call in _
(i) Information Management (iii) Process Management
(if) Memory Management (iv) None of these

(b) The element in binary tree are _

(i) Homogeneous (ii) Non- Homogeneous (ii)Sunilar (iv)ldentical
(c) In C++ is an extraction Operator.
(i) << (i) >> (il && av)!

(d) In HTML is not a paired tug.

(i) <B> (i) <I> (i) =BR> (v) <TABLE>
(B) Answer any two of the following: 6
a. What are the Services provided by Operating System? .
b. List any six operations perform with Data Stucture.
c. Explain Local and Global Data or Variables in C++ using examples
6

Q. 2. (A) Answer any two of the following:
a. What is Operator Overloading? Explain with a suitable example.
b. Explain context switching operation between two process A and B with suitable examples.
c. Explain Internal and External Priority with respect o viemory Management.
(B) Answer any one of the following:

a. Explain the disadvantages of HTML.
b. Explain any three features of Windows-NT Operating Syslem



Q. 3. (A) Answer any two of the following: 6

a.  Write the algorithm for deleting an element in an Array.
b. What is Inheritance? Explain (he types of Inheritance with suitable diagram.
¢. What are Destructors? What are the Syntax rules for writing Destructors?

(B) Answer any one of the tollowing: 4
a. How linked list are represented in memory?
b. Discuss Virus detection, virus removal and prevention philosophijes.

Q. 4. (A) Answer any twao of the following: 6

a. Write a note on Type Conversion in C++.

b. Explain <U>, <A> and <TABLE> tags of HTML with suitable examples.
¢. Explain Input and Output File Stream.
(B) Answer any onc of the following: 4
a. Explain the following terms in case of magnetic disk:
(1)Tracks and Sectors (i1) Seek time
(iti)Transmission time (iv) Latency/Rotational Delay
b. Define Binary Trec. Draw Binary tree diagram for the following expression :
(a° +2ab +5¢) / (a + b)
Q. 5. Answer any two of the following: 10

a. Write a Program in C++ to find the largest number in an Array of numbers Inputted by User,
Write an HTML file to create a table with atleast two merged rows and columns.

¢. Implement a class temperature to convert degree Fahrenheit Value to degree Celsius Value.
[Hint : C/5 = F-32/9, where C is temperature in degree Celsius and F is temperature in F° degree]

OR
Q. 5. Answer any two of the following: ‘ ' 10

d.  Write a Program in C++ to find factorial of entered number.

¢. Implement class GCD which have member functions which calculate GCD of two numbers
entered during program exccution. Print() will print GCD of two number.

[ Write a Program in C++ o accept three numbers from keyboard and find the smallest one and
print it.
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PRELIMINARY EXAMINATION -- JANUARY 2024

SUBJECT: COMPUTER SCIENCE PAPER 11 (1)-9) CLASS: X1
Time: 3 Hrs. MAX. MARKS: 50

NOTE: 1. All questions are compulsory.
2. Draw neat diagrams wherever necessary.
3. Figures to the right indicate full marks
4. Use of any type of calculator is not allowed
5. Due credit will be given for the programs with appropriate comments

Q. 1. (A) Select the correct alternative and rewrite the following: 4
(a) Zero flag is not affected in instracton
(1) XRA A (1)SUB A (iii) CMP A (iv) MVI A O0H
(b) Is not a Vectored Interrupt.
() Trap (i) INTR (iti) RST 7.5 (1v) RST 605

(¢) The most expensive cable amongst thleollowing is
(1) uUTP (i1} Fiber Optics (i1} Co-axial (iv) STP

(d) The internal ROM of 8051 is

(i) 2kb (ii) 8kb (ii1) kb (1v) 16kb
(B) Answer any two of the following: 6
a. Write any two instructions of 8085 microproccssor for cach of the following :
i. 1 byte
ii. 2 bytes
ili. 3 bytes

b. Write a note on Modem.
c. Explain the following instruction with examples.
a) STAX m b) CMC c) MOV AM

Q. 2. (A) Answer any two of the following: 6

a. Write ROM and RAM size of the following Microcontrollers :

i. 8050
il. 8051
ii. 8052

b. Draw the Programming Model of 32 bits Microprocessor of X-86 fainily.
c. Write the difference between LAN and WAN. { Any three points )



(B) Answer any one of the following: 4

a. Explain Logical Group in 8085 Microprocessor with suitable examples.
b. Describe in briefl the following pins of 8085 Microprocessor:

a) RESETIN’ b)) WR ¢) READY

Q. 3. (A) Answer any two of the following: 6

d.

Write any three points which specifies Accumulator of 8085 microprocessor as a special
register

b. Write a short note on Co-axial cable with its characteristics.

c. State four LAN wircless transmission Methods. Explain any two of them.
(B) Answer any one of the following: 4
a. Explain in detail how 8051 microcontroller address two separate memory spaces.
b. Write a short note on Hubs.
Q. 4. (A) Answer any two of the following: 6
a. Explain the following characteristic of transmission media:
i. Band Width 1. Band Usage iii. EMI
b. Explain the following instruction of 8085 Microprocessor with suitable examples of each.
. SHLD i MVI B,09H . RAR
¢. Write a note on TCP/P Protocols.
(B) Answer any one of the following: 4
a. The flag register of 8085 microprocessor contains the data 86H. Interpret its meaning.

b.

Write a short note on Star Topology. Discuss its advantages and disadvantages.

Q. 5. Answer any two of the following: 10

a. A block of data is stored in memory locations FO50H to FOSAH. Write an assembly language
program to transfer the block in reverse order to memory locations 8000H and onwards.

b. Write an assembly language program to exchange 8 bit number stored in memory location
DOS0H. Store new number at memory location D05 LH.

c. Write an assembly language program to subtract the number stored in memory location 8001H
from the number stored at memory location 8000H. Store the positive result at location 8002H

OR
Q. 5. Answer any two ol the following: 10
p. Write an assembly language program to multiple two 1-byte numbers stored at locations
2500H and 25011, Place the result in location 2502H and onward with LSB first.
q. Write an assembly language program to find how many times data ABH appears in a

memory block DO50H to DO59H. Store the count in register C.
Write an assembly language program to find the first occurrence of the data DBH in a
block of memory C030H to CO35H.
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SYJC(HSVC) PRELIMNARY EXAM JANUARY 2024
ET:2 (modern instruments & communication system)

7 MM:80 TIME: 3Hrs
1.A} Fill in the Blanks with the given alternative. (5M)
1. photoconductive effect is observed in

I. photocell ii. photodiode iii. phototransistor iv. LDR
2. Thermistoris a tansducer
i. temperature ii. pressure ii. displacement iv. electrical
3. Data communication uses method.
i. Digital ii. Analog iii. Duplex iv. Simplex
4. GPS is mainly used for
i. controlling ii. receiving iii. transmitting iv. navigation

5.The difference between picture carrier and sound carrier is
MHz .

i.3.5 ii.4.5 iii.5.5 iv. 5.5

1.B) Match the column. (5M}
A B
1 Acquadag layer a. focuses the electron beam
1. Focusing anode b. lower potential
2. Fiber optic cable c. wireless personal area

networking

. Blue tooth d. CRT

A



e. carries light signal
f.3DTV

4, stereoscopy effect

1.C) State whether True or False.

1. Fauit in the TV antenna causes ghost effect.
2. AM has infinite sidebands.

3. CRO measures only the OC votages .

4. LVDT is a temperature transducer.

5. Fuzzy logic is used in washing machine.

2.A) Answer any FIVE questions. (5M)
1. What are primary colours?

2. What is a blue tooth?

3. What is blanking In TV reciever?

4.Give applications of optocoupler.

5. Name the different types of deflection system in a CRT.

6.What is aspect ratio?

Q.3. A) Answer any FOUR questions out of SiX. (12M)
1. Explain the working of thermocouple.

2. Explain magnetic type of focusing in CRT.

3. Explain necessity of modulation in wireless comsiunication.

4. Write a note on blue tooth.

@)




5. Write a note on VSB .

6. With the help of neat circuit diagram explam working of fan

regulator.

Q.3.B) Answer any FOUR out of SIX.
1. State the necessity of modulation.

2.Explain the parts of microwave.

3. Explain luminensce signal and chrominance signal.

4. Write a note on GPS.
5. Define for AM and FM.

6. State any 3 uses of CRO.

Q.4.A) Answer any THREE questions out of FIVE.
1. State the different uses of photocell.

2. Draw Block diagram of CRO, Explain each block.
3. State the advantages of AM.

4, Write a short note sn smart TV .

(12M)

(12M)

5.What are the draw backs of conventional fan regulators.

Q.4 B) Answer any THREE questions out of FIVE.

(12M)

1. Draw a block ziagram of MP3 player and explain each block.

2. Explain the working of photo relay circuit with diagram



3, State applications of function generator.
4. State the advantages of conventional TV over LED.
5. Write a note on wifi.

Q.5 A) Answer any ONE guestion. | (6M)

1. Draw the functional block diagiam of colour TV receiver and explain

each block.

2. Explain with block diagram a fibre optic communication system.

Q.5B) Answer any ONE question. (6M)

1. With the help of neat diagram explain the working of colour picture
tube.

2. Expiain the remedy for following faults in a mixer:
a. Mixer does not run.

b. Slow speed with weak power

)
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SYJC (HSVC) PRELIMNARY EXAM JANUARY 2024

ET: 3 (Computer hardware and networking)
MM: 80 TIME: 3 hrs

% 1.A) Fill in the Blanks with the given alternative. (5M)
1. The crystal frequency of 8085is _ MHz.
.6 di.3lii.4iv 2
2. The 8086 allows us to set of the memory as stack.

i. 64kB ii. 4GB iii. 1MB iv. 8GB
3. topology are made from centre point of server of Hub.

i. STAR ii. RING iii. Bus iv. All of these
4. Address busis ___

i. unidirectional ii, bidirectional iii. omnidirectional iv. None of these
5. Operating systemisa ___

i. software ii. hardware iii. Input device iv. Output device

1.B) Match the column. o - (5M)
A B
1. IXIH - .~ a. free software
2. Linux b. bidirectional |
3. Data bus c. single chip microprpcessor
4. Microcontroller d. SP
5. Stack pointer e. 3 byte instruction

f. BC



1.C) State whether True or False. (5M)

1. There are 5 Flags in 8085 .
2. The UTP cable has highest sensitivity to EML.
3. Semiconductor memory is called primary memaory.

4. Fibre optic transmits light signals but with great loss.

5. Microcontroller is a microcomputer, used to perform controlled instructions. 6
2.A) Answer any FIVE questions. (5M)
1. What is a accumulator? -

2. What is the full form of RAM and ROM ?

3. What is the function of contro! bus?

4. What is an operating system?

5. what is a bit and a byie ?

Q.3. A} Answer any FOUR questions out of SIX. (12Mm) " )
1. Explain the function of the pin ALE in 8085 .

2. State the features of Linux.

3. Explain register indirect and immediate addressing modes in case of 8085.

4. What are the a_dvantages of Iapfops over desk tops?

5. Write a note on magnetic tapes.

6. What is winidows? What are the operations that are performed using windows?



Q.3.B) Answer any FOUR out of SIX (12Mm)

1.. Define the term: a. Machine cycle. b. Instruction cycle.

2. What is the difference between worm and virus?

3. Draw block diagram of computer. Explain each block , .

4, Write a note on Aigorithm and flow charts.
5, What do you mean by addressing modes of microprocessor? Explain any two.

6. What are Flags? Enlist the different types of Flags

Q.4.A) Answer any THREE questions out of FIVE, B (12M)
1. Why is C Language known as middlle level I'anguaigé? | o

2. Explain Modem in detail.

2 What is topology? Explain star topology

4. Compare primary anid secondary memory.

5. What are the functions of operating system?

Q’ B) Answer any THREE questions out of FIVE. (12M)
1. Draw a labelled block diagram of a computer and explain its working.

2. What is an interrupt? Explain it in detail.

3. Write a short note on routers.

4, State the various types of volatile memories.

5.Give applications of micro controllers.



Q.5 A) Answer any ONE question. (6M)

1. What is a microprocessor? List its functions .

2 Write an ALP ic add two numbers stored in C062 and C063 and store the result
in C064.

Q.5B) Answer any ONE question. (6M)
1. Draw the functional pin diagram of microprocessor 8085.

2. Explain BUS topology. Give its advantages and disadvantages.

0o



Preliminary Examination 2023-24
Class = XII

Time : 3 Hours Subject - Physies Max, Marks : 70

General Instructions :

L

Section A : Q. No. 1 contains Ten multiple choice type questions carrying One mark
each. Q. No. 2 contains Eight very short answer type questions carrying one mark each.
Section B : Q. No. 3 to 14 contain twelve short answer type questions carrying two
marks each. (Attempt any eight)

Section C : Q. No. 15 to 26 contain twelve short answer lype questions carrying four
marks each. (Attempt any thiee) ‘

Section D : Q. No. 27 to 31 contain five long answer type questions carrying four marks
each. (Attempt any three)

Use of logarithmic tables is allowed. Use of a calculator is not allowed.

Figures lo the right indicate full marks.

For each multiple choice type question, it is mandatory to wrile the correct answer along
with its alphabet, e.g. (a).../(b) .../(C) ... /(@) ...... No mark(s) shall be given if only the
correct answer or the alphabet of the correct answer is written. Only the first attempt will
be considered for evaiualions.

Physical constants :

Q.1

(1) Mass of electron, m = 9.1 x 10 kg ) By =885x 1012 CY/Nm?
(3) g =98 mss2 (4) change an elecrion, e = 1.6 X 107 cC
(5) o= 5.7x 10° Jim’sK’ (6) m=13.142
(7) o = 47 x 10-7 Wb/Am (8) ¢ =3x10°m/s
(9) h=6.63x 107 Is.
SECTION - A
Select and write the correct answer (10)
1) An LED emits visible light when its...... ¢)]

(a) Junction is reverse biased
(b) Depletion region widens
(c) Holes and electrons recombine
(d) Junction becomes hot

2) A magnetic flux associated with a coil changes by 0.04 Wb in 0.2 sécond. The (1)
induced emf with coil is
a) 0.1 volt b)0.2volt  ¢)0.3 volt d) 0.4 volt

3) By increasing the voltage in an electron diffraction tube, the radius of the (1)
diffraction rings will
a) increase  b) decrease  ¢) may increase or decrease d) constant

4) A string of length 0.5m carries a bob of mass 0.1 kg at its end. If this is to be (1)
used as a conical pendulum of period 0.4 m sec., the angle of inclination of the
string with the vertical is _ (g =10 m/s?)
a) 0.4 b) 0.6 ¢) 0.7 d) 0.8



Q.2

Q3
Q4
Q.5

Q.6
Q.7

Q.8
Q.9

5)

6

7

)
9

10)

1y
2)

3)
4)
3)
6)
7)
8

- 2 -
(R=13314 (1)

The internal energy of the ore mole of argon at 300 K is

J/moL.X). .
a) 304117 b) 3341 c) 37411 dy3941J
In LCR series circuit, the condition for current resonance s . (H

" 1 15 o y
a) ol :-E%C— B wl = aC Qf = dy f = 2aLC
Which of the following quantities is a measure of stability of nucleus? )
a) Mass defect b) Density of nucleus
¢) Rydoerg censtant d) Binding energy pet nucicon
Which of the following phenemena proves that light is @ transverse wave? 1))
a) Reflection b) Interierence ¢) Diffraction d) Polarization
Chalk particles cling to tiic black board due to ; (0
a) capillarity b) compression ¢) cohesion  d) adhesion
P o T at constant volume is the statement of __ 5 H
a)Boyle’s lay  b) Charle’s law  ¢) Gay-Lussac’s law  d) Stefan’s law
Answer the foliowiug : £.3)
What is meant by polarized light ? 1

What is the excess of pressure inside a soap bubble of radius 3 cm if the surface (1)

tension of the soap solution in 30 dyne/cm? ?

Which type of force is experienced by a moving charge in a magneiic ficld ? (1
State the forniiia for magnetic potential encrgy. {e
What is the angle of banking ? :

What is seconds pendulum ? J)
What is ahsolute zcro temperature ? “
In which thermedynamite process does the total energy of a s - semain (1)

constant ?

SECTION-B
Attempt any Eight of the follewing questions :- (16)
Draw schematic diagram of Van de Gratf generator. (2)
Explain the term sphere of death, “(2)

An infinite line charge produces a field of 9 x 10* N/C at a distance of 2 em.  {2)
Calculate the linear charpe density.

Compare raies of loss of heat by the body at temperature 527°C and 127°C.  (2)
Temperature of surrounding is 27°C.

Explain the construction of 2 plane wavefront using Huygens® principle. @
Find the ratio of radius of 1* Bohr orbit to that of 4" Bohr orbit. (2)
A light bulb is rated 100 W for 200 V. If frequency of AC supply is 5¢ Hz,
calculate the resistance of the bulb.




Q.15

Q.16

Q.24

Q.25

TS R

Two scund waves travel at g speed of 330 nys. Ir their frequen

e ncics are aiso
identical and are equal to 540 Hz, what wil| e the Phase difference between the
waves i points 3.5 ng from one source

: < and 3 m from the oije; if the scurces are
in phase ?
Draw a neat labelled dinos of ized |j i

. d diagiam of unpolarized lighi passing through two
polarizers.
Prove that, equivalent S.1. unjt of surface tension ig Ym?
when an wflated ballon is suddenly burst, why is the emesging air slightly
cooled ?

What are eddy currents ? Staie one application of eddy current.

SECTIGN - C
Attempt any Eight of the folluwing questions :-
A Galvanometer has & resistance of 25 0 and its fill scale deflection current is
25 pA, what resistance should pe added to it to have a range of 0-10V 2
A small cyclotron of maximum rad;us 0.5 m accelerates protons in a 1.7 T
magnetic field, Calculate the kinetic energy (maxiznum) of protons when they
leave the cylotron,
A 25 watt lamp is connected 10 a.c. poteiitial of peak value 100 V. Caleulate the
rms value of the current.
Explain how nuclear size of an atom is cstimated.
Find the angular acceleraiion of a particle in circular motion which siows down
from 300 r.p.m. to O r.p.im. in 20 s. '
Two tanks of equal volume conszin cqual mass of oxygen and nitrogen at
127°C. Fiad the ratio of pressure in {wo ianks.
Explain the working of a transforiner. Derive the necesszry formula.
Distinguish between streamline flow and turbulent flow.
State the characteristics of a single-slit dilfractior pattern.
How is the magnetic field of a small current ioop identical to that of a short
magnetic dipole? Explain,
What is potential gradient? State its ST unit and dimensions. State any two
applications of potentiometer.
State and explain the limitations of first law of thermodynamics.

)

(2)
)
NS

2)

3
3)

()



Q.27

Q.28 -

Q.30

Q.31

-4 -

SECTION-D
Attempt any Three of the following questions :- (12)
Explain the working of a fuli wave rectified. @

a) Show that lincar SHM is the projection of a UCM along any of its diameter.  (2)
b) At what distance from the mean portion is the speed of particle performing  (2)
SHM half its maximum speed. Give path length of SHM = 10 cm.

An iron rod is subjected to a magnetising field of 1260 Am’!. The susceptibility (2)
of iron is 599. Find the permeability and the magnetic field produced.

Draw the graph for variation of magnetic susceptibility (x) of a material with  (2)
terperature (T) and hence explain Curie temperature.

An electron is accelerated through & potential of 120V. Find its de Broglie (2)
wavelength. Describe in brief the different ways of eleciron emission from a  (2)
metal surface.

Show that even as well as odd harmonics are present as overtones in modes of (2)
vibration of stretched string.

o
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RIZVI COLLEGE OF ARTS COMMERCE AND SCIENCE.
SYJC SCIENCE 2023-24
TIME: 3 Hrs SUBJECT: CHEMISTRY MARKS: 70

General Instructions -
~=Akral nstructions

The question paper is divided into 4 sections
L. Seetion A: Q.No.i Contains TEN Multiple choice question carrying one mark each,

Q.No.2 Contains EIGHT very short answer type of questions carrying one mark sach.

s Scetion C: Q.No.15 to Q.No.26 are short answer type of questions carrying Three marks each,
éSectiou D: Q.No.27 to Q.No.31 are long answer type of questions carrying Four marks each,
5. Use of log table is allowed. Use of calculator is not allowed.,
6. Figures to the right indicate full marks

7. For Each MCQ, Corrgct answer must be written along with its alphabets,

€g.a)__ b _— 0 d) ete.
Section A
Q. No. 1 Select and write the correct answer - 10 Marks
1) The packing efficiency of bee is iy
a) 52.36% b) 68% c) 74% d) 50%
ii) Depending on states of solute and solvent there are _____types of solution,
by ] b)3 ¢)9 d)2
iii) The dissociation constant (k) for NH4CH is 1.8 x 10 the degree of dissociation in 0.01 M solution .
a) 0.04242 b) 0.4242 ¢) 4.242 d) 0.00424.

iv) Which of the following is intensive property?

a) Mass b) Volume ¢) Internal energy d) Boiling point.

v) E’ell (standard potential of cell) for the following cell reaction is .
Ui 807 ———i €% aq) + Sny [ E%d =—0.403 V and E%n =-0.136 v)

a) ~0.267 V b)-0.167 V c) +0.403V d) 0.267V

vi) The transition elements are placed in period —

a) 1to3 b)3to6 c)4to7 d)lto7

1



vii) The IUPAC name of [Fe (CO)s]is .

i 111
a) Pentacarbonyliron(1l) b) Pentacarbonyliron(I1l)

¢) Pentacarbonyliron(0) d) Pentacarbonylcobait(0)
viii) Cumene on air oxidation followed by decomposition by dilute acid gives
a) Alcohol b) Ester ¢) Phenol d) Ether.

ix) y- isomer (gamma isomer) of BHC is called as

a) Butane b) Ethane ¢) Llndane d) Nonane.

%) Which of the following compound does not react witlh acetyl chloride?

a) CH;CH;NH; b) (CH:-CHD:NH ) (CH3-CHasN  d) CeHsNIL. &

% = » N \‘
Q.No. 2 Answer in one sentence. 8 Mark:s

i) The solubility of CH3Bryg) in water is 0.0260 mol/dm® at 0.164 bar partial pressure and at 25% caigulate
Henery’s law constant.

ii) Draw structure of chlorine pentafluoride.
ui) Define metallurgy.
iv) What is the rate {aw for reaction. 2N®» ® — 2NQg+ O:).
v) Define ligands.
vi} Write the product formed when alkyl balide reacts with silver nitrate.
vii) Write the name of product formed when hydroxyl amine is treated with acetaldehyde.
viii) Define homopolymer.
()
Section- B
Attempt any Eight. 16 marks
Q No.3 Explain zero order reaction with suitable example.
Q.No.4 Define unit cell, how many particles are present per bee unit cell?
Q.No.5 Write a note on wurtz reaction,
Q.No.6 What is polysaccharides? Write two examples of polysaccharides.
Q.No.7 Derive equation for molar mass of solute from freezing point depression.
Q.No.8 Draw structure of cis and trans isomer of [ Pt (NH3)] €L,
Q.No.9 Explain classification of aldehydes.

Q. No10 Explain the trends in following atomic properties of group 16 elements.

2



i) Atomie redii if) Ionization enthalpy iii) Electronegativity iv) Electron gain enthalpy.
Q.No.11 Identify product in;

. OH
i) Ni
)+ 3H, =,
oH
ii
)@—%zn_{l_) - _ <+ Zno.

Q.No.12 Identify A and B in the following reaction.
CeHsCHBr K ) Najethog g
Reduety'on
/Q.NO.I?D Explain the type of electrochemical cell.

"No.14 Two moles of ideal gas expanded isolhermally and reversibly from 20L to 30L at 300k. calculate work
done (R=8.314 Jk'! mol ")

Section—C
Attemptany EIGHT _ 24 minrks
Q.No.15 Define p;rometallurgy. What is the action of Hz and metal on elements of group 177
Q.No.16 What are polymers? Write classification of polymers on the basis of intermolecular f01‘~ces.
Q.No.17 Define and explain peptide bond. Writc the structure and name of monomer of natural rubber.
Q.No.18 Define green chemistry. Write two advantages of nanotechnology.
Q.No.19 Write the product when 1°, 2° and 3° alcokol vapours are passed over hot copper.
(.No.20 Explain aldol condensation.
°Ne.21 What are structural isomer or constitutional isomers? Explain linkage and ionisation isomers.
| Q.No.22 Explain classification of alloys. Write twe uses of KMnOa.
(3.N0.23 Calculate AG? for reaction; CHa(g) + Ha ——  CaHeg) state whether reaction is spontaneous or not.
(Given Kp=3.356 X 167, T=25%,R =8.314 x 10% KJ K mol™)

Q.No.24 Define molecularity of reaction. Write equation for integrated rate law for first order reaction. Write
the unit of rate constant {k] for first order reaction.

Q.No.25 A weak monobasic acid 0.04 % dissociated in 0.025 M solution, calculate pH of solution.

Q.No.26 Write the classification of aliphatic ketone with example, write [UPAC name and structure of acetone.

Scction— D

Attempt any THREE 12 marks

3



Q.No.27 Define isothermal process and isochoric process. Define buffer solution and write the applications of

buffer solution.

Q.No.28 What js salt bridg
cell.
Q.N0.29 What is vacancy defect? Give disadvantages of vacancy defect. Draw structure of SO mention the

7 Write two functions of salt bridge. Draw neat labelled diagram of Hz — Oz fuel

value of bond angle in SO2.
Q.No.30 Distinguish between ideal and non-ideal solution. Calculate the number of voids in 0.4 mol of it.
Q.No.31 Write the product formed during following reaction

i) Chlorobenzene treated with chlorine.

ii) Chlorobenzene treated with conc. HNO; in presence of conc. H280a.

jii) Chlorobenzene treated with fuming H2S0a. .
iv) Anisole treated with HIL




SCIENCE
12]o1 | 2024
RIZVI COLLEGE OF ARTS SCIENCE & COMMERCE

Time: 3Hours Sub: Mathematics Marks: 80

Std: XII Examination: Preliminary Exam

General Instruciion:
(1) SectionA: Q.1 contains cight multiple choice questions, each carrying two marks.
Q.2 contains four very short answer type questions, each carrying one mark.
(2) Section B: Q.3 to Q.14 contain twelve shorl answer type questions, each carrying two
marks. (Attempl any eight).
. (3) Section C: Q.15 o Q.26 contain twelve short answer type questions, each carrying three
. ' marks. (Attempt any eight).
(4) Section >t Q.27 to Q.34 contain eight long answer type questions, cach canying four
marks. (Atlempt any five).
(5) Use of log table is allowed. Usc of calculator is not allowed.
(6) Figures to the right indicate full marks.
(7) Use of graph paper is not nccessary. Only rough sketch of graph is expected.
(8) For each multiple-choice type of question, it is mandatory to write the correct along with
its correct answer or alphabet, e.g. (a)...../(b}...... ctc. No marks shall be given, il ONLY
the correct answet or the atphabet of correct answer is written, Only the first attempt will
be considered for evaluation.

(9) Stait answer to each section on a new page.

SECTION - A
. Q.1. Select and write the correct answer for the following multiple-choice type of questions:
{16}
(i) IfpAqisF, p — qis F, the truth values of p and q are respectively.
@ T.T (b) T.F () KT (d) KF

(i) If o, B, v are dircction angles of a line and 0. = 60°, =459, theny =

(a) 30 or 90 (b) 45 or 60 (¢) 90 or 60 (d) 60 or 120

(iii) The direction ratios of the line 3x +1 = 6y —2 = 1 — z are:

(2)2,1.6 (b) 2,1,-6 (©) 2,-1,6 (d)-2.1,6



e

(iv) If the foot of the perpendicular drawn from the origin to the plane is (4,-2,5), then
equation of the plane is:

(a)dx+y+ 5z =14

(¢)x—2y—-5z=10 (d)4x+y+6z=11

(b) 4x — 2y + 5z = 45

(v) The principal value ofcos'l(g):
2 7
@7 O ©F @3

(vi) If X denotes the number on uppermost face of a cubic die when it is tossed, then E(X)
is:

(@) = (b) 2 ©0 (d) 1

-

(vii)} cos®xdx=__
(a) L sin3x +2sinx + ¢ b) X sin3x + Lsinx + c
712 4 12 4

1 . L 1 . 1 .,
(¢} =sin3x —=sinx +¢ (d) —sin3x —-sinx + ¢
12 4 12 4

(viii) Let f{x) = 2f (%) =x,then f'(2) = .

@ % OF ©2 @3

Q.2. Answer the following questions: (4]

1. Find the general solution of sin? @ — cos2f = 1.

1
l+e~x

2. Evaluate [ dx

3. Find the separate equations of the lines represented by the equation : 3x2 — 10xy —
8yt =0

4. Form the dilferential equation of family of lines parallel to the li.ne 2x+3y+4=0.



SECTION B
Attempt any Eight of the following:
e i [16
Q.3. Express the following compound statemens Symbolicai]y- ]
(i) Mumbai is in Maharashtra byt Cochin is not jn Tamil Nady

()3+8212 iff 20<as

Q4. Find the inverse of the matrix [2 4 ]
1

a;olr-’smj?ﬁ\i%\ }‘:C;C:gr? Eﬁfition of plane passing through the point A(-2,7,5) and parallel to the
Q.6. Is Rolles Thoerom applicable f(x) = 42 - 4x +10,x € [0,4].
Q.7. Solve the differential equation: cos Xcosy dy — sinx siny dy = 0.
Q.8. Find the mean of number randomly selected from | to 15.

Q.9. Find the value of sin~(sin 35—”)
1, 1
Q.10. Evalute [/ log(z - 1)dx.

Q.11. Solve the differential equation log Z-y = 2x + 3y.
X

Q.12.Show that the equation x? + 2xy +2y% + 2x + 2y = 0 does not represent a pair of
lines.

Q.13.the displacement s of a particle at time t is given by s = 2¢® — 5¢2 + 4t — 3. Find the
time when acceleration is 14 ft/sec?.

Q.14. Find the cartesian co-ordinates of the point whose polar coordinates are (\/Q_E).
SECTION C
Attempt any Eight of the following questions: [24]

Q.15. Find the co-ordilgatesﬂof t,l\1e foot oij\ perg‘gndic;ilar drawn from the point 2?— f\-é-
Sk to the line v = (111 — 2j — 8k) + u(10i — 4j—11k). Also, find the length of
perpendicular.

Q.16. The rate of decay of certain substance is directly proportional to the amount present at
that instant. Initially, there are 25 gm of certain substance and two hours later it is found that
9 gm are left. Find the aniount left after one more hour.

Q.17. Verify LMVT for the function f(x) = x +xl ,x € [1,3].

Q.18. Integrate [ ——
Q.19. Prove that the line segments joining the midpoints of the adjacent sides of a quadrilateral

form a parallelogram.
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Q.20. Find the combined equation of lines passing through the origin each of which making an
angle of 30° with the line 3x + 2y — 11 =§.

Q2i, Show u‘ﬁa’ points :—f-;- 3?{ and 3i +4) + 3% are the equidistant from the plaie
T(5l+2j—~,,c)-l- =0,

Q.22. two dice are thrown s1multaneously If X denotes the number of sixes, find the
expectation of X.

X ank .
Q.23. let the p.m.f. of r.v. X be be P(x) = (:) (%) (g) ,x=0,1,2,3,4. Find E(x) and Var(X).
Q.24. Find the area of triangle with the vertices (1,2,0), (1,0,2) and (0,3,1).

Q.25. Find the value of cos"l(g) + cos"l(%)

-1 pA=x=2
Q.26. Differentiate w.r.t.x cot™ (5—)
SECTIOND
Atiempt any FIVE of the following questions: ‘ (20]

Q.27. Simplify the following so that the new circuit has minimum number of switches. Also,

draw the simplified circuit. .

S

Q.28. Solve the following equations by method of reduction: -
2x—-y+z=1 x+2y+3z=8, Ix+y—4dz=1

sinx+2cosx G{
3sinx+4cosx

Q.29, Integrate the following [

Q.30. Solve the differential equation (x? + y2)dx — 2xydy = 0.

Q.31. Integrate f;log(l + tanx) dx.
Q.32. Find the area of the region lying between the parabola y? = 4x and x* = 4y.
Q.33.Maximize z = 3x + 5y,

subject to x + 4y < 24, Ix+y=<21, x+y<9x=20, y=0

Also, find the maximum value of z.

Q.34.Prove that the bisectors of the angles of a triangle are concurrent by using vector method.

¥
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PRELIM EXAM 2024
SUBJECT: ENGLISH STD-XII
Time: 3 Hrs (Max Marks: 80)
SECTION 1: PROSE
(Reading for Comprehension, Language Study, Vocabulary, Summary, Note- Making or Mind Mapping)

QI.A JRead the given extract and complete the activily given below: [12 Marks]

I bad a very simple upbringing. We were a lower middle class family. Our 300 square feet house did not
even have basic amenities such as a fan, a refrigerator, a geyscr, a dining table or a as stove; leave alone
an 4ir conditioner or a car. It was only when [ entered the college that I got a watch and we got a diniug
table and a gas stove al home. Nevertheless, culturally, 1 has rich childhood. Poets like Vinda Karandikar,
Mangesh Padgaonkar and Vasant Bapat used to visit our hoine and for hours I could listen to the
discussions about poetry and literature-Marathi and English. They used 1o talk about Keshavsut.
Maurdhckar, Shakespeare, Charles Dickens and Thomas Hardy. 1 did not fully understand their discussions
in depth, but 1 was immensely impressed. We also were lucky to have Pt. Kumar Gandharv, Pt. Bhimsen
Toshi and Pt. Jasraj visit out place and talk about Indian music till late night or sometimes dawn. This is
how nad why I developed my interest in literature and mmsic during my school days. 1 did not and even
today don't understand the ‘grammar’ of music, but 1 began to love it remendoeusly since then.

Most of the times, the topics of discussion at out home were about music literature, paintings,
sculptures ete. I could listen Lo the discussions about Van Gogh, Mozarl and Michaclangele ete, (1 was
because of such a milien around me that [ had a firm Lelief which T still hold that all arts are equally . if
not more, important in out lives than Science or Technology. [ had learnt from my childhood that money
does not mean everything in life. It is necessary, but if at all there is something which enriches our lives

and puts meaning to out existence. It is the arts, music and literature.

A.1 Complete the web about literary laurel's topic of discussion a1 Achyut Godbole's house.(2M)

Literary

laurel’'s N\ [ e

discussion
topic




A2 Give Reason:(2M)
1) Achyut Godbole has a firm belief that ali arts are equal because.........; g
11) Ti) Achyut Godbole developed interest in literature and music in the childhood days becausc. .

A3 Explain:(ZM)

“Nevertheless, culturally [ had a rich childhood.” Explain or interpret this statement in the light of the

extracl.

Ad Personal response:(2M)

Write four to five sentences about your childhood memory related to your family.
A5 Language study:(2M)

i) They used to talk about Keshavsut, Mardhekar, Shakespeare, Charles Dickens and Thomas Hardy. (Usc
“Would” and rewrile
’ )

ii) 1 did not fully understand their discussion in depth, but | was immensely impressed. ( Use “Though or
make it complex)

A6 Vocabulary:(2M)

T S TaA ) B S

i Amenities a ) eohance

i Upbringing b Work of are glr::aied'bry
shaping malleable
objects or lettering them
harden

T Sculpture ¢ Facility/infrastmc?ﬁ?“

v Enriches d The raising or training
of a child

Q1.B.Language Study(Non-textual Grammer) (4M)

B1. Do as directed/Transformation of sentences:(3M)

(1) Villages need to follow strict rules. (Rewrite using 'must'.)
(2) He switched on the monitor at the back (Change the voice.)

(3) The increased water levels resulted in a better yield and more grass for animals (o graze. (Rewrite

using 'not only...... but also')



B2. i i
Spot the error/s in (ke given scnience and rewrite the correct sentence:(1M)

The two girls sat besides each other in complete silence.
2. (A} Read the following extract and complete the activity given below: [12 Marks]

Nivs ! ) . .

( ﬂy :lozlz starts scho(?l today. It is all going to be strange and new to him for a while and | wish you would
_r..e; him gently. It is an adventure that might take him across continents All the adventures probably
include wars, tragedy and sorrow. To live this life will require faith, love and courage.

So, flcar teachers, will you please take him by his hand and teach him things he wil) have to know-but
gently, 1f you can. Teach him that for every enemy, there is a fricnd. He will have to know that al! men
are not just, that all men are not true. But teach him also that for every scoundre! there is a hero that for
every crooked politician, there is a dedicated leader.

_Tc‘a(,:h him if you can that 10 cents eamed is of far more value than a dollar found. In school,
teach him it is far more honourable to fall than to cheat. Teach him to learn how to gracefully lose, and -
enjoy winning when he does win,

Teach him to gentle with people, tough with tough peaple. Steer him away [rom envy if you can
and teach him the secret of quiet laughter. Teach him if you can-how to laugh when he is sad, tcach him
there is no shaine in tears. Teach him there can be glory in failure and despair in success. Teach him o
scoff at cynics.

Teach him if you can the wonders of books, but also give time to ponder the extreme mystery of
birds in the sky, bees in the sun and flowers on a green hill. Teach him to have faith in his own Ideas,
even if everyone tells him they are wrong.

Try to give my son strength not to follow the crowd when everyone else is doing it. Teach him to
listen to everyone, but teach him also to filter all that he hears on a screen of truth and take only the good
that comes through.

Teach him to sell his talents and brains to the highest bidder but never to puta price tag on his
heart and soul. Let him have the courage to be impatient, let him have the paticnce to be brave. Teach him
1o have sublime faith in himself, because then he will always have sublime faith in mankind, in God. This
is the order, teachers but see what best you can do. He is a nice little boy and my son. (Abraham Lincoln's
Letter to His Son's Teacher)

A.1. Read the following four statements and find out two most suitable statements that summarises
the extract.(2M)

(i) The extract is about Abraham Lincoln's passion and zcst for leaming.
(ii) The extract deals about what school should do or should not do.

(iii) The extract speaks about Lincoln's belief that education is a potential too! for building up the all-
round personality of the student.
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(iv) The extract deals with Lincoln's appeal to the teacher to be lenient as well as strict with the students.
A2 Complete:(2M)

(i) According to Lincoln child can save himself from imitating the crowd by ........ooooviiiiniininn -
(i) According to Lincoln adventure means.. .., b g s T ST

A3 Explain:(Z¥)
‘It is far more honourable to fail than to cheat’. Explain the statement about 50 words.
A4 Personal response:(2M)

Describe your views in about 50 words about teachers/schools contribution in the personality
development of a child/student.{2M)

AS Language study:(2M)
i) You would treat him genily .

(Find out the correct sentence from the given options in which modal auxiliary showing 'advice’ s used

and rewrite)

(a) You will treat him gently.

(b) You need {o treat hin gently.

(¢) You should treat him gently.

(d) You shall treat him geatly.

(i) It is an adventure that might take him across continents. (Remove that and rewrite)

AG Yocabulary:(2M)

Fill in the blanks with appropriate words given in the box and rewritc.(2M})

{(crooked, scoff, steer, sublime)

(@) The whole of Sahyadri mountains are abounding in picturesque and............ scenery.

(b) He was trying 1o involve me in another........... deal. .\
(c) When planning the boat trip, we had completely forgotten that we needed somebody lo......
(d) His enemy....at his ‘tear drops’.

Q.2. (B) Summary: [3 Marks]

Write 2 summary of the above extract in short with the help of the given clues and suggest a
suitable title. L



Abraham Lincoln's lettet to the icachier - adventures - humanity- honeo.. ¥ child tackle ups and down in

life-book reading - not to follow crowd - message -conclusion
Q.2.(C) Mind-Mapping: (3M)

Develop a mind-mapping frame/design 10 show the preparations you will make while planning vour first
trek into the Sahyadri Hills. Your plans can include: (i) Choice of place (ii) Physical preparations (iii)
What lo carry (iv} Precautions, etc.

SECTION II-POETRY AND APPRECIATION
Q3. (A) Read the given extract and complete the activity given below:[10 Marks]
When [ had money, money, O!

1 knew néjoy till I went poor;

For many a false inan as a friend

Camic -nocking all day at my door.

They felt T like a cild that holds

A trumpet that he must not blow
Because a2 man is dead; 1 dared
Not spezk 1o let this false woild know.
Much have 1 thought of life, and scen
How poor men's hearis are ever light;
And how their wives do hum like bees
About their work {rom morn till night.
So, when [ hear these poor ones laugh.
And see the rich ones coldly frown

Poor men, think I, need not go up

So much as rich men should come down.
When 1 had mongy, money, O!

My many friends proved all untrue;

But now 1 have no mongy, O1

My [riends are real. though very few.



A.l. State whether the following seniences are true or false and rewrite.(2M)

(i) In the past poet had many friends but no reul fricnd.

(ii) Poet feels like a child who can btow the trumpet which he held as he pleascs.

(iii) According to the poet poor peaple not need to be rich, but much rich people must be poor.
(iv) When poet become poor, he had many real friends.

A2 Give reasons;(2M)

(i)Friends come knocking all day at the poet's door

(ii) Poor man's wife hum like bees

A3 Personal response (2M)

“Money makes the world go round.” Explain your views in fifty words in the light of the poem.

Ad Paetic Device:(2M)

Find ont and explain the figurc of speech in the following linc: "And how their wives da hum like bees'.

AS Creativity:(2M)
Comzose one stanza of four lines on ‘Friendship’,
Q.3.B.Appreciation: (4M)

Read the given extract and write the appreciation of the given poem based on the following aspects:
The river has a soul.

It knows, stretching past the town,

From the first drop of rain (o dry earth

And mist on the mountaintops,

The river knows

The immortality of water.

A shrine of happy pictures

Marks the days of childhood.

Small town grows with anxiety



For the future.

The dead are placed pointing west,

When the soul rises

Tt will walk into the golden east,

Into the house of the sun,

In the cool bamboo,

Restored in sunlight,

Life matters, like this.

In small towns by the river

We all want to walk with the gods.

+  Form of the poem, theme and its significance

»  Poctic style, language features, poetic devices

« Inspirational message, values, morals reflccted

«  Your opinion and critical evaluation of the poem.
SECTION HI (WRITING SKILL)

4) Complete the activities as per the instructions given below:{16 Marksj
A)(1) Draft a Virtual Message:(4M)

Using information from the dialoguz given below. write the message which Surabhi left for her sister,
Shweta. Do not leave our 2y vital information or add any new information.

Atharva: Is this 28171129 ?

Suarbhi: Yes. May I know who is speaking?

Atharva: [ am Atharva. [ waat to speak to Shweta. I am her friend from 1M, Indore.

Surabhi: I am her sister. Shweta is not at home at the moment. Can you call her afier some time?

Atharva: 1 shail be little busy. Actually, I have got a placement at the Hatel Taj, Goa, and will have (o join
with immediate effect. So right now, I am trying to get all the formalities completed. This is the news |
\.vamcd to give Shweta. Will you do that for me? Also tell her that T will let her know my new cell phone

nun:zber as soon as § get one.



Surabhi: I'll do that. Bye and all the best.

Surabhi has to leave for her nffice. So, she wrote a note for Shweta. Draft her message in not more than
50 words.

OR
(2) Statement of Purpose:(4M)
Read the personal details given helow and prepare a suitable Statement of Purpose.

Prithviraj Kapoor Dance school is one of the leading educational institute in the ficld of dance for the
artists all over India. Right from the age of 8 you have been taking a training to become a classical dancer
from Pandit Birjumaharaj. because of him you got an opportunity te perform in some dance shows at
Pune International Dance Festival during Ganeshotsava and even have won a ward at the hands of Hema
Malini the well-known dancer and actor of Bollywood. You are very fast In learning the steps and clear
about the insiructions. Dancing has helped you in winning many trophies for vour coilege. Prepare a
statement of purpose that will make a way for you to secure ar; admission in this institute.

OR
(3) Group Discussion: (4M)

A boy whose parenis are working at a construction site but are doing no compromise i 2iving edueation
lo their son. the boy is also studious and hardworking and this year in $SC board exam he has secured 90
plus percentage. But now as his financial condition is not enough sand, he is thinking to discontinue his
education and work with his parents. For further education he needs monetary help. You and your fow
friends have come together to find oul some sohution 10 his problem. Before this you and vour friends had
a group discussion to neip him, Prepare four or five of your discussion about it

4 (B) Attempt any ONE of the foliowing:
{1) Email Writing: (4M)

A company has been marketing spurious medicines behind claims that its product [ could be cffective in .
preventing Covid 19 Corona or other forms of influenza. Write an email (o the Drug Controller General of
the Directorale of Health Service, Mumbai examining the claim of the company and explaining the harm
these kinds of claims could cause.

OR

(2) Report Writing: (4M)

Write 4 report of a monsoon trek in which you participated as a member of your Junior college contingent.
OR |

(3} Interview Questions:(4M)
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Saina Nehwal and PV Sindhu are playing against each other in the Common Wealth Games. As a reporter
of the Indian Express fhewspaper you met and interacted with SainaNehwal and learnt about her
achievements and future plans related to badminton. Frame a set of § to 10 questions that covers the

micrview.

[Name of the interviewce (distinguished per-
sonality)

Area of Success/Reputation

Date/Venue/Time

——e

Duration of Interview

Questions:

(1) Inspiration

(2) Family support

(3) Daily rouline

(4) Sl}e—n;;th/dmwback

(5} Success mantra

(6) Game & family balance

*(7) Memorable incident/event

(8) Other interest

(9) Message

4 (C) Attempi any ONE of the iollowing: (4M)

(1) Speech Writing:

Prepare a speech to be delivered in your college on the issue 'Global Warming' and need (o address the

growing concein,
OR

(2) Compering:

Imagine that you are a compere of 'Gandhi Jayanti Celebration® which is to be celebrated in your junior
collcge. Prepare a compering script of the programme with the help of the following points.

»  Introduction



»  Welcome of the guest

. Main events (speeches of students, skit performance oF the students and guest's speech)

«  Cleanliness drive Vote of thanks
OR
3) Expansion of Idea:

Expand the following idea in about 120 words. [t must have an introduction, middle and the conclusion.

"Eyrhune Favours Brave"

4 (D) Attempt any ONE of the following:(4M)

(1) Book Review:

Wrile a review of 2 book that you have recently read. four points given below. Write yoill review based
on any {our points given below: .
. Name of the characters (main and supporting roles)

. About the story/ theme of the book

+  Why did you like or not like the book

»  Special features/novelties/novel ideas

. Should others read this book/would you recommend your friend/s Lo c‘njoy it rcad this book/why?
OR

(2) Blog Writing: (4M)

Write a blag in a proper format on "Rivers Source of Life of Cities. Write your answer in about 150

words.
OR
(3) Appeal:(4M)

Prepare an Appeal in the form of an advertisement on water conservation to be displayed on your college .
notice board use attractive slogan, Make use of the following points.

»  Persuasive appeal
+ Information about the programme to be undertaken
+  Ask for contribution

« Need to save the Earth

lo



«  Other ideas of your own
SECTION IV: LITERARY GENRE - (NOVEL)
5. (A) Do the following as per the instructions: (4M)

A.1. Match the author/novelists given in column 'A’ with their work given in column ". (ZM)

A B

1.Geoffrey Chaucer . A.Clarissa

2.Herman Melville B.Evelina

3.Frances Burncy C.The Cantcrbury Tales
4.Samuel Richardson D.Billy Budd

A.2. Add a word to the sentence as an answer and rewrite.(2M)

(1) Setting includes place period, time, climate or weather and...........

(2) The German word 'bildungsroman' indicate........

(3) The realistic novel is also called a novel of........

4) Science fictior: is a genre of speculative fiction flourished in the sccond half of the.......
5. (B) Write the answers of the following questions in about 50 words:[4 Marks]

(1) Deseribe the atmosphere of the school described in the extract given for our study from the novel *To
Sir with Love’.

(2) Write in your own wotds the entire half-yearly report programme of the students based on the extract
given for our study from the novel ‘To Sir with Love’.

5. (C) Write the answers of the following questions in about 50 words: [4 Marks]

(1) Write a short character sketch of Philcas Fogg based on the extract given for our study from the novel
‘Around the World in 80 Days’.

(2) When Fix arrested Philcas Fogg Passepartout thought that he was a causc of his master's

misflortune. Give reason.

5 D.Write the answers of (he following questions in about 50 words: (4M)




{1)Discuss the importance of the following statement in the light of the extract given for study from the

novel ‘The Sign of Fours’.
‘Halmes carefully examined the paper given by Mary'

(2) Miss Morstan plans to meet Sherlock Holmes. Give reason.

|
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COMMERCE
SYJC PRELIMS 202324 / ANGIU[AGIE 12 o202y

Marks: 80 Sub, English Time: Three Hours

SECTION I - PROSE
(Reading for Comprehension, Language Study, Summary, Mind Mapping)
Q.1 A) Read the extract and complete the activities given below., (t2)
There was a pause as cars hooted on the road, jutka drivers swore at their horses and|

the babble of the crowd agitated the semi-darkness ot the park. The other sal down, sucking his
cheroot, puffing out, sat there ruthlessly. The astrologer felt very uncomfortable. "Here. take
your anna back. I am not used to such challenges. It is late for me today..... He made
preparations to bundle up. The other held his wrist and said, "You can't gel out of it now. You
dragged me in while | was passing." The astrologer shivered in his grip; and his voice shook
and became faint. "Leave me today. [ will speak to you tomorrow." The other thrust his palm in
his face and said, "Challenge is challenge. Go on." The astrologer proceeded with his throat
drying up. "There is a woman .......
"Stop," said the other. "1 don't want all that. Shall T succeed in my present search or not? Answer
this and go. Otherwise I will not let you go till you disgorge all your coins." The astrologer
muttered a few and replied, "All right. I will speak. But will you give me a rupee if what | say
is convineing? Otherwise I will not open my mouth. and you may do what you like." After a
good deal of haggling the other agreed. The astrologer said, “You were left for dead. Am | right?"
"Ah, tell me more."
"A knife has passed through you once?" said the astrologer.
"Good fellow!" He bared his chest to show the scar. "What else?"
"And then you were pushed into a well nearby in the ficld. You were lelt for dead.”
"I should have been dead if some passerby had not chanced to peep into the well," exclaimed
the other, everwhelmed by enthusiasm.

Al. Order 2)

Rearrange the jumbled order sentences as per the events happened.

1) The passer-by saved the stranger.

2) The astroleger gave secret information of the stranger.

.:) The stranger insisted the astrologer to give answer to his question.

4) The astrologer refused to accept the challenge.

A2. Give information (2)

The astrologer gives information of the events happened in the life of the stranger.

Write it.

A3. Give proof. 2)
The astrologer feared due the encounter with the stranger. Give its proof from the extract,

!

A4. Personal Response _ 2)
Imagine you were in the place of the astrologer. Give your ways to dcal with the stranger,
AS5. Language Study (Do as directed) (2)

a) The astrologer felt very uncomfortable. (Make exclamatory sentence)

b) He made preparations to bundle up. (Use — so that)

A6. Yoeabulary 2)
Write antonyms of the following words from the extract:

a)agitated b) uncomfortable c¢)like d) dead

B) Language Study (4)

- "



1) Do as directed / Transformation of Sentence

a) You should wear your uniform. . ) res
(l){cwrire the sentence choosing the correct modal a_l\”““""y showing ability.)

1) must 2) can 3) will ) 12y

b} Bepging is a curse on humanity. L

(State whether the underlined word is gerund or present participle.;

¢) Before we left the class, we (complete) our assignments. ‘

(Rewrite the sentence using the correct verb form of the word given in the bracket.)
Zj Spot the eiror.

I am agrec with vou in this matter.

Q.2 A) Read the extract and compiete the activitics given below. . (12)
f When shocs were ﬁ-,smmde, they were imade flat without a heel. Since normal walking
requires that the heel of the foot should strike the ground before the toes, thesc early shoes U§Cd
0 wear out quickly at the heel, prompting sticemakers to reinforce ihe heel, and so creating
heeid shoes. o ‘

Women have been wearing high- heeled shoes for centuries 1 the pursyit of fashion.
However, regulariy wearing shoes with high heels can be hazardous. The biggest risk, perhaps,
is losing your batance and hreaking an ankle. Wearing high heels interferes with your nornial}
gait. They throw your weight forward, making it difficuit to sustain upright balance. Thev force
you to use a lot of extra muscular effort to keep from falling forward. Much of this extra effort
is concentrated in the lower back arch, which can lead to back pain. Experts warn that high heels
can a, result in a variety of foot problems, including metatarsalgia, which is pain in the ball
of the foor. Another condition called Morton's neuroma, which is 10 times more common in
women than men, 5s caused by the tiickening of tissue around a nerve between the third and
fourth toes. It usually envelops in response to imitation and excessive pressure, such as the
burden of weight high heels place on the ball of the foot.

However. if one cannot resist wearing 'heels, the following tips can help to keep your
feet healthy. Always wear the correct fit. Have both feet measured the next time you buy shaces,
You will probably find that one foot is larger than the other — always buy shoes to (it the larger
ifoot. never buv shoes that are too tight. Buy shoes later in the day when your feet are a bit
‘sw_ollen. Never wear a heel higher than 6.5 cin. Only buy heels that you are comfortable in.

el

Al. True/ False _ (2)
Rewrite the follewing statements and state whether they are true or false.

1) Initial shoes were without a heel.
2) Woinen have been wearing high- heeled shoes for centuries to get comfort.
3) High heels can create a variety of fool problems. 4) Always wear a heel higher than 6.5

A2. Give information @)
Write any four drawbacks of regularly wearing shoes with high heels.
A3. Guessing 2)

Guess the mtention of writing this extract.
Ad. Personal Response )
To wear shoes with high heels is good or bad. (Give your opinion)

AS. Language study (2)
Do as directed.
I) They throw your weight forward, making it difficult to sustain upright balance.




(Make it compound —
Always wear the correct fit P sentence.) 2)

(Choose the correct alternative thyt shows the

) ) type of thig senten
a) Interrogative sentence b) Imperative sentence EC 9
AG. Vocabulary ¢) Exclamatory senicnce

(2)
1) Centuries
a) Thousands of years
2) Hazardous
a) Dangerous b) Hard
3) Gait
a) Style of giving b) Style of walking

b) Hundreds of years

.4) Pursuit
a) Carrying purse and suit b)Y To achjeve something
B) Summary Writing
Write a brief summary of the 2bove extract with the help of the points given be
Suggest a suitable title for j¢,
Earlier shoes, need of high heel%ms about]
wearing shoes etc,
NS
- - ‘*-‘\“—__“— ey
C) Mind Manping 3)
Develop a 'Mind Mapping’ frame / design to show the 'Beunefits of games and sports' to the
students.
You can take the help of the following points in order to develop each of them into further|
,branches:

Fitness and stamina, team spirit and Sportsmanship, group behaviour, killer's instinct, will to;
win etc.

@)

How,

SECTION ¥ - POETRY (PORTRY AND APPRECIATION)
Q.3 A) Read the extract and complete the activities given belowy. (10)

The Sun in the heaven was shi ning gay,

All things were joyful on that day;

The sea-birds scream’d as they wheel’d round,
And there was joyaunce in their sound.

The buoy of the Inch-cape Bell was seen
A darker speck on the ocean green;

Sir Ralph the Rover walk’d his deck,

’ And fix’d his eye on the darker speck.

He felt the cheering power of spring,
[t made him whistle, it made him sing;
His heart was mirthful to excess,

But the Rover’s mirth was wickedness.

His cye was on the Incheape Float;
Quoth he, “My men, put out the boat,

And row mie 1o the Inchcape Rock,




And U1l plague the Abbot of Aberbrothok.”

Al. Pick out 2)
Pick out the two lines from the extract that show the joyful almosphere.

A2. Intention (2
Write the intension of Ralph to sail near the Inchcape Rock. -

A3. Personal response
Give your any one experience of journey by sca.
A4, Poetic device 2)
a) Write rhyming words of each stanza.
b} It made him whistle, it made him sing. (Name the figure of speech used here)
AS. Poetic creativity (2)
Add your two poctic lines to continue the theme of the stanza.

He felt the cheering power of spring, It made

him whistle, it made him sing;

B) APPRECIATION ' 4)
Read the extract and write as per the instructions:

_I Is anybody happier because you passed his way?

| Does anyone remember that you spoke to him today?

’ This day is almost over, and its toiling time is through; s
‘ there anyone to utter now a kindly word of you?
|
|

Did you give a cheerful greeting to the friend who came along?

Or a churlish sort of "Howdy" and then vanish in the throng? Were you
selfish pure and simple as you rushed along the way,  Or is someone
mighry gratetul for a deed you did today?

Can you say tonight, in parting with the day that's slipping fast,  That you
helped a single brother of the many that you passed?
Is a single heart rejoicing over what you did or said;

Does a man whose hopes were fading now with courage look ahead?

' Did you waste the day, or lose it; was it well or sorely spent?
Did you leave a trail of kindness or a scar of discontent?

As you close your eyes in slumber do you think that God would say,
You have earned one more tomorrow by the work you did today?

Write an appreciation of the poem - *“Have You Earned Your Tomorrow’ using the

following points.

aj Therve of the poem b) Poetic device ¢) Message of the poem d) Special feature SEEFHON

SECTioN I - Writing Skills

Q.4 A) Complete the activities as per the instructions given below,

1) Drafting a Virtual Message )
Read the given conversation between Rakesh and Mrs. Sarkar. Draft the message in 50|
words. Do not add any new information,
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Rakesh : Hello, may I speak to Dr, Sarkar?

Mrs Sarkar : He has gone to the hospital to attend the OPD. May I know who is

speaking?

Rakesh : Yes. I am Rakesh Sood. My wife has been having a severe headache since yesterday.
Since this morning she has also developed a high temperature. I would be very
grateful if the doctor could come over to our place to examine her.

Mrs Sarkar : Of course. Please let me note down your address.

Rakesh : It is B-49, New Colony.
Mrs Sarkar : I will give him your message as soon as he returns,
Rakesh : Thank you.
OR
2) Statement of Purpose 4)

Write a Statement of Purpose as a part of your application to join nursing college. (Write
in 100 words) .

You have visited a hospital and saw the work of nursing. You liked the service and dedication
of them. Your favourite subject in junior college is Biology. You desire to join the nursing
course, ;

OR
3) Group Discussion (G)]

Have a group discussion on the fellowing topics: Clean India

Evaluatos: Anita, Tushar, Mahendra - you all have been given few minutes to think on your

topic for today’s group discussion, which is ‘Clean India’. You may now begin the discussion.
Who would like tc start? '

Q.4 B) Complete the activities as per the instructions given below,
1) E-mail Writing )

Write an ¢ - mail to the S.T. Depot Manager using the following points.

Your college is 15 km away from your native place. You go to college by S.T.bus. The bus
timings are not convenient for you and other students. Write an e- mail to the S.T. Depot
Manager of your area.

Write an e - mail to: depot.manager@yahoomail.com Use proper

template to write e- mail.

OR
2) Report Writing - @

Write a report of the celebration of Maharashtra day in your junior college. (Write in 100
words)

Hints: The time students assembled in college, the arrival of the chief guest and others
dignitaries, flag — hoisting, Speeches, detailed program, cultural programme, vote of thanks etc.

OR
3) Framing Interview Questions )
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—

rview a very well -known political leader and social
10 questions focusing on his/her social behaviour

Imagine that you are going to interV’
activist of the district. Prepare a set of 8-
and the activities he/she carries out. .
Name of the Interviewee (distinguished [l
personality)

Area of success/reputation
Date/venue/time

Duration of interview ]

Questions:
I | Reacticn after victory in election
2 | Family background/politics
3 | Instance to join politics
4 | Opinion about social service politics
5 | Changes expected in people

work priority

Policj-f agains_tg)rruption
8 | Dream for state

0.4 C) Complete tire activities as per ilic instructions given below.
1) Speech Writing 4)
Prepare a speech to be made before your class appealing studenis io make a will to donate
eyes. (Write in 100 words) Use the following points:

Make an appeal to donate eyes, show its need and importance, use slogans, use rhetorical

questions, give process to donate eyes.

~ X

‘ OR
2) Compering (4)
Imagine that you are a compere of a ‘Prize Distribution Ceremony’ of your
college. Write a script of the same. (Write in 100 words)
use the following points-

1) Introduction 2) Lighting the lamp 3) Welcome song
4) Introductory speech  5) Felicitation 6) Main event
7) Speech of the guest  8) Vote of thanks
OR
3) Expansion of Ideas 4)

Expand the idea inherent in the following statement-

“One should eat to live, not live to eat — Franklin.” (Write in 100 words)

Use the following points:-

Explain the statement, Give examples, Give message given in the statement.

Q.4 D) Complete the activities as per the instructions given below.

I) Blog Writing ~ @)

Write a blog using proper format on the topic- Commuinication Skills. ]

Hints: Expiain the term, Give its benefits, Suggest ways to improve this skill, add your own

poinis, give header, footer etc. (Write answer in blog template)
(Write in 100 words)

(A



- OR
2) Review Writing @
[Write a film review that You have seen rec i )
ently using the f; : : .
b) Charactetination g the following points. a) Story
¢) Music and songs d) Theme
¢) Action f) Special features

g) Weak points h) Your opinion about the film

(Write in 100 words)
OR -

3) Appeal Writing
[Sharda Social Club, Kothapur arranged a save wate
Prepare an appeal to the people to join it,

“@

r — save carth drive for five days.

Hints:
.l ) Give programmes 2) Time and date
3) Contact information 4) Use picture/decorative frame.
SECTION 1V - Literary Genre
Q.5 (A) Complete the activities given below as per the instructions.

1. Match the column ‘A’ with ‘B’, Q)
A B
1) Theme a) The struggle between the opposite forces in the story
2) Style b) The background in which the story takes place
3) Setting c) The central idea in the novel which can be expressed in a nutshe]l,
4) Conflict d) The language and the techniques used for the narration of the course of events

2. Pick out the odd element from the group. 2)
(i) Arun Joshi, Vikram Seth, Graham Greene, Kiran Nagarkar
(i) Place, Period, Theme, Climate, Lifestyle
@)iii) Theme, Plot, Character, Novella
(iv) Billy Budd, The Turn of The Screw, Pearl, Joseph Conrad, Death in Venice

(B) Answer in about 50 words to the questions.

1. Language: : 2)
Read the dialogue and find out who the speaker is, his/her tone, the style, significance ete.
of the dialogue.

“Then why do we have to do P.T.? Why don’t they take only the kids who need i(?”

2. Character: Q)
Give a brief character-sketch of —~ Miss Phillips

(C) Answer in about 50 words to the questions.

1. Theme: (2)
Write 4-5 sentences on the 'Time' as a theme of the extract.

2. Setting: 2)
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Describe the importance of the following place in the development of the plot and behaviour of
the characters. ‘Place: Liverpool’

(D) Answer in about 50 words to ihe questions.

1. Language ' 2)
Elaborate the following line in the light of the novel/extract, ""The Sign of Four"-

"You really are an autoimation- a calculating machine"

2. Character: ' 2)
Describe the character of Sherlock Holmes. '




